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Development Environment

Windows 7, Windows 8.1

Cygwin

Visual studio 2010,




Project Structure (X|5}H)

@® Header
— #include "terminal.h”
— #include "subway.h"
— #include "subway_in.h"
— #include "subway_out.h”
— #include <stdio.h>
— #include <string.h>
— #include <stdlib.h>
— #include <time.
— #include LV

KU veversre



— terminal.c

— Subway.c

— Subway_in.c
subway_out.c




Project Structure (HH2)
@® Heade

— #Inc
— #inc
— #inc
— #inc
— #inc
— #inc
— #inc

[

ude "buslnput.h”
ude "busbus.h”
ude <stdio.h>
ude <string.h>
ude <stdlib.h>
ude <conio.h>
ude <time.h>

— #include <Windows.h>
® Code

— buslnput.c

KU veversre



Project Structure (34

@® Header
— #include <stdio.h>
— #include <string.h>
— #include <stdlib.h>
— #include <math.h>
— #include "getinfo.h"

KU veversre



Definition (X|S}A)
A #define RASIC FFF 1080

| int in_out

#define BASIC_FEE 1050 int balance:

#define MAX_USER_INPUT 30 char terminalinfol6]:

#define BUS 0 Jugerinfo:

#define METRO |

#define IN 0 struet ourrentinfof

#define OUT | char |gatTaeTima[20]
int tranaportation;

int money: mt n_out

char ¢; it balance:

int terminalCount(6): char temminalinfol6]:

int check eurrentinfo:

< SLLuU
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Definition (HH2A)

#define BUS 0O
#Fdefine METRO 1
#define IN O
#Fdefine OUT 1

struct userinfof

char lastTagTime[20]:
int transportation:
int in_out:

int balance:

char terminalinfol[6]:
}:

struct currentinfo{
char lastTagTime[20]:
int transportation:
int in_out:

int balance:

char terminalinfol[6]:
}:

int terminalCount=0:|




Definition (24

A~finaA NAAV_CTI7C 1NN
fHdet ine MAX_SIAE 100

HdeT ine MAX_INPUT_SIAE S50
Hdet ine BUS O

Hdet ine METRO 1

Hdetine |IW O

Hdet ine OUT 1

int leng;
int rleng: Airesult HHE 2| = =D
struct termlinftod

char lastTaglime [20] ;

int transportation;

int in_out;

int balance;

char terminal infolB] ;

OO ONONONO

T

s=truct result{

char lastTagTime[20] ;
Nt transportation:
int fee;

char terminal infolB&]

OO ONO

KU vvesrrs
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Structured Chart — PTS (Advanced)
Code Analys °; ATt 7

terminal.c

SI/IEFAEAE =St e =R ot AR el

char= getlastTagTime({

FILE =f./=S- s 1 dsrEJsSieiesfl 18 =22 5UF =/
char userlnput[MAZ_ USER_INPUT]:

char tagTime[20]:

f = fopen("CO\N\=T1\\test\M\user.txt”, "r’):

if (f == NULL) perror("AF8 717 2 S 01ch"): s
else{

while (fgets(userinput. MAX_ USER_INPUT,. f) '= NULLMNX} R
fclosel(f):

¥

S=userlnput FE SF7I="d 2 dluypesSfI &=l A S =/
/=tagTime[12] = "™\ 07

strocpy(tagTime. userlnput, 12 ). =/

strepyv(tagTime. strick(userlnput, ™ "))

Hame printf("lasttagtime - 2%s\n", tagTime):

return tagTime:

Reference No.

Quiput }
S/ E I A IS ot A PTEt S =
Process Descripuon TE AMEAT 7T2VA VA 2= B L A4 B 2T SEUY- r
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TREE g commend

Code Anq|ys|§{n§n Chart — PTS (Advanced)
\| | 5t \
int getTransportation(H
FILE +f.//SN 8 1A= eei2g 28 E 25 U=
char userinput[Ma>_USER_INPUT]:
char temp|[8].
f = fopen("CA\\L91\\test\\usertxt™. "r")
if f == NULL) perror(CAHEAZIgiS U )
else!
while (fgets(userinput. MAX_USER_INPUT. f) != NULL){} ]
Iclose(f):
} i
//Tr 2] 27t s §

w i

V4= kP Pd s

strcpy(temp, sirtok(NULL, " "))

VLS ==,

print(transport : %s\n". temp):
~_  if (stramp(temp. "BUS") == 0)
Raference No. return BUS.
' else if (sircmp(temp. "METRO") == 0)

Iame
return METRO.
oot else
Cutput return METRO:
}

Process Descripti  // W ATHORHEE. X|sIZEo|HIYHEE. Hl =g o|HojdEsS2XIs2=28%H-
// A sPEEHNEqdxsEclaisiaiRl B -712=9
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Structured Chart — PTS (Advanced)
Code Analys o AoE y

....... \\ Jaa-!"ér&_‘\ig_(ﬂ‘ﬂ/ =~}
int getin_out() {
FILE =i/ Bl 1L TS TR 8 1B 22 ==
char userinput[MAX_USER_INPUT]:
char temp[4]: a
f = fopen(CC\\aN\\test\\user.toa". )
if (f == NULL) perrorCARSZLZIRiGUTH): NG
else{ e Nrommeh
while (fgets(userinput. MAX_ USER_INPUT. f) != NULL)]} o
fclose(f). EESTY
}
P a1t ko B o - N
sirtok(userinput. © ")k zommeng Sommend
SRR ZAIZE == =7)5
stirtok(MNULL. ™ ™) Interface Pt
V£ E A= 3 L2 Xk

strcpy(temp. siriok(NULL. ™ 7))
printg(inout-9%s\n". temp):

if (strcmp(temp. "IN") == 0)

i return IN:

| e else if (stremp(temp. "OUT™) == 0)
| Input return OUT:

else
return OUT:

¥ Process Description }

// RFFIEORSBEIISAIR0 stAF 1 21E WstAloIct
// HiAEIO]E ol o] of 8] & of A 81 RFeH R0 7| =-22Fo] 7] of]
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Structured Chart — PTS (Advanced)
Code Analys ~5HE< y

&
3 LzsrZ = tlIDDEi‘O cammand
AT i A > ‘\Qfargg

int getBalance() {

FILE =f:// Q™ Efj A}t USrEofghHolE 18 B o = Q1=
char userinput/MAX_USER_INPUT]:

char= balance.

int i = 0: et
f = fopen(CC\\QN\\test\\usertxt”. "r') }

if f == NULL) perror(CAIEXr7rgi<sUct )

elsed

while (fgets(userinput. MAX_USER_INPUT. f) != NULL)}M} I
sclose(r): =z |

}

//5r g Ae] 23 } intertoce
striok(userinpwut. ™ ")
SE2AALLE

for = 0: i<2; i++)

sirtok(NULIL., ™ ")
Reference lo. VPEE o= -l
Name balance = striok(NULL., ™ 7):
printf(Cbalance: %s\n". balance):
Input return atoi(balance):.
o /SR
Process Descripti___ o Lo

K EONEUK
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Code Analysi:

Reference No.

Name

Input

Qutput

Process Description
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Structured Chart - P}S (Advanced)

o XskE .

‘ AR TR g N command

char+ getTerminalinfo(}

FILE «f.//SF |1 qE TS T 1T ES FUH
char userlnput[MAX _USER_INPUT]:

char terminalinfo[6]:

inti = 0;

f = fopen("CA\\&STN\\test\\user.txt". r)
if (f == NULL) perror(CAMALZIgi U
else{

while (fgets(userinput. MAX_USER_INPUT. f) != NULL)}}
fclose():

}

L - e ES Ed

sirtok(userinput. " ")

SFEL A AIZE

for (i = 0. i<3. i++)

sirtok(NULL., " ")

[/ SR SX8HRT. TR
strepy(erminalinfo. striokMULL. ™ ")k
printf(Cterminal:-%s\n". terminalinfo):
return terminalinfo.

}

S/EESEE7IE RS

T, &%

\ozor'lr'lan

3 =0 3
d commeand
== =75
terface Interface




- Structured Chart — PTS (Advanced)
Code Analysis! ° 5y p

void taginput(f 2acTime -= zsciVait

time_t timer: // Q{7 min = gacTime / 60:

time_t initTimer;//A| AEE] ZA)EFA|TE sec = zacTime % 60

ANCT M ot printfitampSecond. "%d", ssc)://EHIAIAERYEH

char tempSecond[S]:// ZEchar HiEE printfitemplfinuts, "%d", min) /B 1AIAEYH

char temphlinute(3];// E-&char sig2 srepyicwrrentingo. laatTagTime, temphinute):

char cterminglCount[s]://CE7]| FLecount ZiEcharEAEHE sreat(currentinfolastT agTime, ™7):

char psshlstro = 'z'//Fl5HH 0l 85T mF]SET] sreat(currentinfolastT agTims. tempSscond):

char metrobl3] = "0_°/ /A SHEALE printf(%02¢:%02d\n", min. ssc)

int zecTimg = O://AlAEAIES S Y AL ZEETR0]

int min: if (bt

int sec: sec\Wait = zecTima:

int sacWait = & acanf("%c”, &usslistra):

int kb = & ffluzh(stdin): 9
int tempi = G//in out ={x b= =
int nitializer = 1:;//£7|2f4Z28K1 if (uselstro == 't}

int ios:/ /4RI o aystem("cla’): s
initTimer = time(NULL);//A|2 202|288 JeprinttM\nTAG TIME %024:%02d\n", min, ssc)=/

t = localtimel &initTimer): /A1 72X 2 8¢ brask

while (1} }

printf (1832t g7 }

printf("\n"): Slesp( 1000}

vhile (1) /=brealu=/

tempi = O 1

timer = time(NULL)://A|7HEE T EEL

t = lpcaltime(&timer): //A| TR A E X B E

2ecTime = timer - initTimer: //A] A A ZFEEE x| S7HR| A|TF
if (b ==1)

{
sac\Wait = sacTime - zsciWait:
=0
H
| 71gh e 2 AR E el ET)




Code Analysis(’

1.6.2

Z2 =t

Tick, Tr

Z2|&h

void initialize(H
FILE =f.

f = fopen(metro.txt”. "W).

fputs(™. 1)
1

[*3E018+/

if (secTime % 180 == 0 && secTime != O

//E718
initialize():
initializer = 1.

printf(M\nZz 7]ZH\n"):

initTimer = time(NULL):
secWait = 0.

}

Structured Chart — PTS (Advanced)

o X&ks /




: Structured Chart — PTS (Advanced
Code Analysis(? “"ired T4 )

if (initilizer ==  ©of check_out{i=/
{ currentinfo transportation = METRO check_in_out{&ios):
Jea/saex) printd(AD). ZEc). AF(Q). €. FIAHIT) bresk
e ERI=E scanf({"%c”, &metrob): }
ussrinfo.trangy  flush(zwdin): a2 if (metrob0] == "o’}
userinfo.in_out pointt ("L \n'):
/printt(A&q] i (metrob{0] == "B} strepy currantino.terminalinfo, metrob):
JE7ISeEer,  prind{Achn’); /eif (igg == IN)
tompi = yserin  Strepy{currentinfo.terminalinfo, metrob); check_in():
if (tempi == 0  /*if {ioz == IN) elze if (ioz == QUT)
{ check_in(); check_out(j:=/
strepyuserinfo  @3e if (ios == OUT) check_in_out{&ioz):
ussrinfo, balang check_out():=/ break
strcp{usgrinfo  check.in_out{&osk } t 1= OUT) &&
/=terpi = 3;=; bresk dlae if [mstrob[0] == 'f')
AN Fe ) printf(“F HAAn"):
printf('27]skd  dlse if (metrob[] == "¢{ strepy{ currentinfo terminalinfo, metrob):
1 printf{ 78 2\n’): /eif (ios == IN)
;.’lf_&?]gﬁ.g’.]:&‘L strepy| currentinfo terminalinfo, metrob): check_in():
//9]Wuzaring  /*If {ioz == IN) glas if (ios == OUT)
//1aattagtims, | check_in{): check_out(l:=/
dse| alse if (ios == QUT) check in out{&iosk

; = =/ . . .
ﬁﬂﬁ?ﬁ i:ﬂf_t;u{&m;_. ;mﬂkﬂ void check_in_out(int *a)
Strepy{useringo ;’m‘k B 1
pssrinfo. balang 2@ ' __
Srcpyiuserinfe  ©se if (metrobl0] == "¢’){ { i (*a - ”‘*U
orntsleg  PRCUR) b check_in();|
1 strepy currentinfo terminalinfo, metrob): .
initializer = 0:  checkinl} } whil check_out ()
} elze if (ioz == OUT) //R1%

I




subway_in.c

int check_in)
f

[

chare tsmpminl:// userinfo

char= tsmpsscl:// ussrinfo

char= tempmin2.// currentinfo

char= tempsgcl:// cwrrentinfo

int check tranz:// AlforEstadac:

int totaltimel

int totalimeZ

char templ[1C]:// AZFEA A ZISErid !
char temp2[10]:// AZFSAI AT ZIiS S g!
strepyitempl, currentinto. lastTagTims):
strepy(temp2, wesrinfolsatTagTimal;

tsmpminl = srrokiussrinfo. lastTagTime, ™)
empssc] = ArtolNULL, ™)

totaltimel = (atoillspminl)) = €0 + arciftempsscl):

tempmin2 = strtok{currentinfo lastTagTime. ™)
tsmpssc2 = oM NULL, ™)

totaltime? = (stoiltempmin2)) « &0 + atoiltempascl):

atrepy{currentinfo laztTagTims, templi:
strepyiuserinfolastTagTime, temp2):
check_trans = 1otaltimel - totaltimel:
check = G

if fuserinfo.in_out == IN &% currenting:
{

if ((userinfoterminalinfo[C] == 'a’ && u
currantinfo.terminalinfa[0] 1= 'a’ &&cou
|| (wserinfo.terminglinfdC].!= '8’ && ua
currentinfaterminglinfalCl.!= 'a’ && cu

{

&& check_transz >15))
{

currentinfa bslance = noteal_trans(): // 1750 CR 1650 (5] A->x|sraigks

U, x| ->u] A2 50]175080)
check = Z
}

011650 ﬂ

dlse if (userinfo.terminalinfol0] = 'a’ && userinfotransportation == METRO &&

currentinfo terminalin
{

currentinfo.balance = notcal_nottrana(): // 1250
check = 2:

}

fo[0] != 's' && currentinfotranzportstion == METRO)

elas if (ussrinfo tsrminalinfol0] == ‘&’ && wasrinfo.transportation == BUS &&

surrentinfo terminglinfo[C] != 'e’ && currentinfotranaportstion == METRO)

{

currentinfabalancs = basic():// 7| 221050%: HA SRS SR

check = 2
b
}

if (ussrinfoin_out == QUT && currentinfo.in_out == IN)

{

if (ussrinfo terminalinfa0] == 'a’ && ussrinfo, transportation == BUS &&
currentinfo terminslinfo[C] != 's' && currentinfotranzportstion == METRO

&& chsck_trans <= 15)
{

infolC] != 'a' && currentinfotranaportstion == METRO

J/bezic();// 7|1 ER10509: x|SESAIEX| S SR, HIFSEY, TFSATFZEH
currsntinfo balance = basio(); // 10604

check =

}
I
}



: Structured Chart — PTS (Advanced
Code Analysis(? <! T4 )

‘,i s

int noteal_trans() {// olAIET{HACAH 2
int extra_fos_a = 600:// WA->xstEers go|PuRsias
int extra_fes_b = 700 // x|FtA->u|ArAR0|PARI0 2

if (ussrinfo terminalinfoC] != 'a’ && ugerinfo tranzportation == BUS &%

currentinfo terminalinfo[0] != 'a’ && currentinfo.transportation == METRO) 2,
{ =715

printf"%da\n"', BASIC_FEE + extra_fes_a):

return BASIC_FEE + extra_fee_a:

}

alae if (userinfo tarminalinfol0] == 'a’ && userinfo. tranzpartation == METRO &%
currentinfo terminalinfo[0] != 'a’ &&currentinfo tranaportation == METRO)

{

printf("ed\n’, BASIC_FEE + extra_fee_ bl

return BASIC_FEE + extra_fee_b:

}
h

K EONEUK
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Code Analysis(’

Structured Chart — PTS (Advanced)
< X|5H& /

o e
= rE e rE, &= BHAH
command commend Control
A

userz= c\-Uaﬁ"."'E
HE =
trl T .
bg:fpo;&_a £z Enso \0:0'1'157:1
commang DlEEDiE
O] =k L
[-Er 70 e
HaE ? == Epll-2 ?
command commend command
g = =7|3¢

He xPd 2.2.3
i olgat olghs
4 tick, trigger
£ =}
AHgAPE Tl Abgsta ghag et
EE:
g2 ohg g2 FLHED

int notcal_nottrana() {// ol@4t&n|E4(HASAR 2
int extra_fee = 200:

printf("sed®d\n', BASIC_FEE + extra_fes):

return BASIC _FEE + axtra_fee:

}

KU veversre




: Structured Chart — PTS (Advanced
Code Analysisl? ~; 5 i )

3

e

! wwlind]  alutl i
= Board/Left Balance information
Interface Interface Interface
HE Algtd 2.2.4
o= A Ab/Ea : e o g .. .
i int cal trana() {// FitaE4{AAZAHL)
= User® 2, tick, trigger int =810 = 0
9 EE printf("%dd\n', zero):
o AHexbE A2t S48 O B 90 Fae Austn, AfIde A return zero:
=5 }




: Structured Chart — PTS (Advanced
Code Analysisl? ~; 5 i )

3

e

§  Eet] et EM%L T

- Board/Left
LastTagTime Transportation
Interface Interface

HE x]5td 2.2.5
o] S JlEez _
int basic() {// FLEAGHAT A A I LmEorNILHO

o ble. disabl e :

enable, disable mnﬁi 9&% v BASIC-FEEI{;
== == return BASIC_FEE:

AR RL7E B 2ol At ol| }
A

it 3




Code Analysis(’

/AEHAEHIENEAS. AEED

while (1)

{

if (igg == 1)//8tAIQui =0 SR TolE o2l
{

savelnfol)

break

}

glze if (iog == 0)// 4AM=0 SE RS0 T

[
4
L

balence_check():

if ((ussrinfobalance »= money))
¢

if {check == 2)

v
4
L

if (metrob{0] == 'b’)

{

srminslCount1}++:

printficterminalCount, "%d", terminalCount[1]):
strepyicurrentinfo terminslindo. metrob):
streati currentinfo terminalinfo. cterminalCount):
i

elze if (metrobld] == "¢’

{

terminalCount[2}+=:

aprintflctearminalCount, "%d", tsrminalCount[2]):
strepy currentinfo terminalinfo. metrob):

atreat currentinfo terminalinfa, ctsrminalCount):
i

aas if (metrobl0] == 'd)

Structured Chart — PTS (Advanced)

*_ X8}

\,
kY

o

terminsalCount[3}++:

printficterminalCount. "%<", terminalCount(3]):
strepy currentinfo terminalinfo, metrob):
grest{currentinfo terminalinfo, cterminalCount):
)

dlas if (mstrob[C] == '¢')

{

terminslCount|4}+=:

printficterminalCount, "%d”, terminslCount[4]):
strepy currentinio.terminalinfo, metrob):
streat(currentinfo terminslinf, cterminalCount):
}

dlae if (metrob[0] == 'f)

{

terminalCount][5}+:

printfictarminalCount, "%d", terminalCount[s]):
strepy{currentinfo.terminalinfo. metrob):
streat(currentinfo terminslinfo, ctsrminslCount):
}

}

arepy{userinfo terminalinfo. currentinfo.erminalinfol:
saveinfo):

}

break

t

alze if ((userinfobhalance < monsyl)

break

}

money = O:

P}

K KONKUK
UNIVERSITY




: Structured Chart — PTS (Advanced
Code Analysis(? >tuctured: A )

L EEEIS
A aerm R ] command

clze
{

money -= 600

/=ussrinfo.bslance = userinfo.bslance - cwrentinfo.balance:=/
ugzerinfo.in_out = cwrrentinfo.in_out: i
atrepy(userinfo.last TagTime. currentinfo.lastTagTims):
strepy{cuwrrentinfo terminglinfo. userinfo. terminalinfol:
ugerinfo. transportation = currentinfotrsnspertation:

=

printf("4 Xt i~~\n"): L
} Epll-2 ?
command

}
J intatate

HE x5t 2. BE
ols 55 {
e Trigger money -= 200:
waerinfo.in_out = currentinfo.in_out:
e A 7gcom: strepy{userinfo.last TagTime. currentinfa.lastTagTimse):
PECeT waerinfoiransportation = currentinfo.tranzpartation.
k= e s printgf{"< I 1~~\n"):
b
}
return 0

K KONKUK :}
ITNTVERSITY
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: Structured Chart — PTS (Advanced
Code Analysis(? >tuctured: A )

s
| —
subway.c ]
int balance_check() I
{ =X '\Qm'q;;
if (currentinfo.balance == BUS)// 403 % =
;
| 4
money = currentinfo.balance + €00 - 9 s §
if (ussrinfobalancs < monsy) -
printf( A S0l EEFmA4istdager ! !IN\n') ntetace intertate
slas Jf EEolord AR
{
g= money = currentinfo.balance + 200:
& if (userinfo.balance < money)
49 printf( R S| EEH HLAEtA L5 &5UD IND")

EONEUK
UNTVERSITY




Code Analysis(’

Structured Chart - P}S (Advanced)

K==

<~ X|5HE
s
TAG B
subway_out,c
int check_out()// SR AR LZSF AT 2
{
check = O
i (uweerinfo.m_out == IN && userinfotransportation == METRO &&

currentinfe.n_out == OUT

&& currentinfo franaportation ==
{

if (userinfoterminalinfol0] = ‘e’ && currentinfoterminalinfol0] = 'a’)

i
i

ourrentinfo balance = nottrana_cal): // 04, 200955002 0,1 FAF==D
9 2[AF= 200

4/ TS ELRE SHEA AR YOLT] SRS

uaerinfo.balance = userinfo balance - currentinfo balance:

userinfo.in_out = currentinfo,in_out:

strepyluserinfo,lastTagTime. currentinfo lastTagTims):

strepylourrentinfo. termmalinfe. userinfo.terminalinfo).

userinfo. transportation = currentinfo. transpartation:

3
i

METRO]

olse if (userinfo.terminalinfol0] == ‘a’ && cumentinfo.terminalinf[0].!= ‘a’)

{

currentinfobalance = trans_cal():// 3009, 60UEFSURT —> 18AHT= 3009
2BA = 6009/ BAMR|SPEELE)

uzerinio balance = wserinfo.balance - currentinfo,balance:

uaerinfo.in_out = gurrentinfo mn_out:

atrepy(uasrinfo lastTagTime. currentinfo.lastTasTime):

strepy(currentinfo terminalinfo. uzerinfo.terminalinfo):

userinfo. tmansportation = currantinfo fransportation:

KU veversre



: Structured Chart — PTS (Advanced
Code Analysis(? >tuctured: A )

L EEE]E

3 ezz > e G ‘
int nottrana_cal) {// D& (AAS AR SR SAL slae if ({wasrinfo terminslinfo[0] == v’ && (currsntinfo.terminalinfol0] == 'd’
int station0 = 0:;// 0 FAFOE || currsntinfo.terminglinfo[C] == 's'l)
int atationl = 0:// SHEAE|E || (uzsrinfo tarminalinfo[C] == '¢ && [currentinfo.terminalinfo[0] == ‘¢’
int station2 = 200:// SHAZ|E || currentinfa,terminslinfo[0] == 'f'))
if ({userinfo.terminsalinfo[0] == 'b’ && currentinfo.terminalinfe[0] == b’ || (ussrinfo terminalinfo[0] == ‘" && (currentinfo.terminslinfo[0] == '
|| (uaerinfoterminalinfol0] == "¢’ && currentinfo.tsrminalinfol0] == "¢’) || currentinfa.terminalinfo[0] == 'b'])
| (uzerinfoterminslinfol0] == 'd' && currentinfo.terminalinfo[0] == 'd’) || (userinfo tarminalinfo[C0] == ‘e’ && (currentinfo.terminalinfo[0] == 'b'
|| {ussrinfoterminalinfol0] == '¢' && currsntinfo,terminalinfo[0] == ‘e’ || eurrentinfo.terminslinfo[0] == '¢')
| {userinfoterminalinfo[d] == 'f' && currentinfo.terminalinfo[C] == 'f')) || (userinfo terminalinfo[C] == 'f' && (currsntinfo.terminalinfo[0] == ¢’
{ || currentinf.terminalinfo[0] == 'd")))
printf('$tEtAl 27102 %d¥\n", stationO}): {

printf($EATAI 27585 %d¥\n", station2):
rsturn station: return stationZ:
} }
else if ((ussrinfoterminalinfo[0] == b" && (currentinfoterminalinfo[0] == 'f' }

| gurrsntinfo terminalinfo[C] == '¢'))
(userinfoterminglinfol0] == ‘¢’ && (currentinfo.terminalinfol0] == b’
| currsntinfo.terminalinfol0] == 'd'))
(ussrinfoterminalinfo[0] == 'd’ && (currentinfotsrminalinfo[0] == ‘¢’
currentinfo terminalinfo[C] == '&'])
|| {ussrinfo terminalinfo[C] == ‘¢’ && (gcurrsntinfo.terminalinfolC] =
|| currentinfo.terminalinfo[0] == 'f))
|| (userinfotsrminslinfol0] == 'f' && (currentinfo.terminalinfol0] == '¢’
[| currsntinfo,terminalinfolC] == 'b')))
{
printf{"8tZTA| $718. 5 %d\n", stationl):
return stationl:

o

}




: Structured Chart — PTS (Advanced
Code Analysis(? >tuctured: A )

8 ez
E
int trans_cal) {// E4FASAHALTAY {
int station0 = 0:// 0 BAT0|E printf("8tArA1 £71.8. 3 %d¥\n", stationl):
int stationl = 300:// $HALE return stationl;
int station2 = 800:// £HAFCE }
if blse if
‘b’ && gurrentinfo terminalinfo[0] == ((¢ == 'b" &% (gurrentinfo terminalinfo[0] == 'd’ || currentinfo terminalinfo[0] ==
[| (e =="¢" && currentinfo.terminalinfol0] == ‘8"l
[| (e =="d" & gcurrentinfoterminalinfo[0] == d ) || (o == "¢' && (cwrrentinfo.terminsalinfol0] == 'e' || currentinfo.terminalinfol0] ==
[| (¢ =="¢" && currsntinfo tsrminalinfo[0] == '&') )
I| (e =="f' && currentinfo terminalinfol0] == 'f')) | (¢ == 'd" && (currentinfo tarminalinfol0] == 'f' || currentinfo terminalinfol0] ==
{ "2l
printf("StAFAl 2718 5 %d¥\n', stationl): || (¢ == '¢' && (currentinfo.terminalinfol0] == b’ || currentinfo.terminalinfol0] == :|
raturn station® e'))
i (¢ == 'f' && (currentinfo.terminalinfo[C] == "¢’ || currsntinfo.terminslinfo[0] ==
elss if E:8))
= 'b' && (gurrentinfo.terminalinfo[0] == '¢' {
|| currentinfo.terminalinfol0] == 'f) printf5HAtAl 7185 %4™U\n", stationZ);
[| (¢ =="¢c" && (currentinfo.terminslinfo[0] == 'd’ return station2:
|| currentinfo.terminalinfol0] == b')) }
[| (¢ =="d" && (currentinfo terminalinio(0] == '¢' }

|| currentinfo.terminalinfo[C] == '¢))
[| (c =="¢' && (currentinfo, wrmjmlin.fo[el == 'f
|| currentinfo.terminglinfo[0] == 'd'))
| (e =="f" && (currentinfo.terminalinfo(0] == o’
| currsntinfo.terminalino[0] == '¢’)))
| & ==




KU

Code Analysis(’

void zavelnfol}

FLLE «f

char cbalance|10];//Tr%char HiG 28 TS
f = fopen('C:\\$R1\\teat\\uzer tzt'. "a’):

if (f == NULLY perror( AHgxrmao] gl&u o) |

slag]

fouta"\n”, fi;

/EFHT

foutdcurrentinfo, laztTagTime, fi:
fpatd” ", f

AEIANYE

if (currentinfo.transportation == €
fputg"BUS", f):

alze if (currentinfo.transportstion == 1)
foutx"METRO", f):

elzs

printf{"ranportation ERROR\n'):
fouta” ", f

S AR R TN YE

if (currentinfo.in_out == ()
fouta"IN", f):

dae if [currentinfo.in_out == 1)
fputa"OUT", £

glas

printf("in_out ERROR\N');

foara” ", f

/R YRR

si7lsiehit

Structured Chart — PTS (Advanced)

PR

L= I

/=realBalance = userinfohalance - currsntinfo. balance:=/

Printfichalance. “%d". ussrinfobalancs):
// cei@of Tt
foutachalancs, fi:
fouta” °, £k

EONEUK
UNTVERSITY

QeI e Y 2R sk E

\,
S

P
/Bl ol =

foutd currsmtinfo terminalinfo, f):

/e oEE 2l o=

}

folossl(f):

J/EREE YR

f = fopen('mstro.ot’, "a+)

fputa™\n’, i

fputa currantinio. lsstTagTims, 1)
foutd” ", £

JEIAREYE

if (currsntinfo.transportation == 0
foutaBUS', )

elae if (currentinfo transportstion == 1)
fout"METRO". f);

dlas

Dril'.lli["tramponatim ERROR\I'):
fouts” "

/M *i%xlﬂrﬁﬂﬂlﬂ 4=

i# fmasrmmmtind o dem maae oo O

//RERTRZAUNRE

fpuiaicumntinfn,tanninalinfo. f):

//ERE B BT oREE

fclosel(f):

1
]

ESIE! ?

command




Code Analysis(H1A
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Code Analysis(H1A) T e (e

WE WAL
ol& &7, shat 2 & control
o User § &, 82|zt
9 trigger
£79] 2, shag T8 AlE UEFE AMGAH Fuet AAGE U wot 2K
ek 7| statelz] 2% Aledh

int busin_cutContrel{) / /B~ Selz} HER

{

EONEUK
UNTVERSITY

F {ourrentinfo.in_cut == IN)
{
return busChargeShortageControl{busBoardContrel{]):
]
slas{
busLaftControl);
stropyourrentinfo terminalinfo, userinfo terminalinfo).
return 1.
]




® e_AngllLsis H'l /\ Structured Chart — PTS (Advanced)
) — v

HA22.4 I

o ga/8

ofr

tick, trigger. User & ¢

23 H

SR OIBAT ST 52 U A9 3L AN, k2L AT 3 Y

FAES O HESHZ AT ED.

£

int busBoerdContrel{) /B A SAIHEE && ussrinfo.terminalinfofd] = ‘s’ && 15<totsltimsZ - totaltimsl])
{ {
int result = 10: result = /7202 10508 IH
ghar« tempminl; return result;
zhar= tsmpsscl: 1
chars tempminz: alas if (userinfoin_out == IMN)
char= tempssci; {
int cheok_trans: /7 A|7H0] o2 22 o oo if (ussrinfo terminslinfafl] == 'a' && userinfoiransportstion ==
int totaltimsl; METRO) /B a-7abE shaba] = Ej2
int totaltimsZ; {
char temp[10]: SO AT FA] FEeT] A9 2! result = 2.//20 2+ 1650% @
char tempz[10] return result:
int oooo: 1
stropy{temp, currentinfo lastTagTims): slas ¥ (userinfoterminslinfo]d] != 's' &2 ussrinfo.transportstion
sropy(temps, ussrindfo. lastTagTima): == BUZ) // FetE s olala] = B2
tempminl = strickiussrinfo lastTagTims, ") {
tempascl = strtok{MNULL, ") reault = 4.2 08 2= 17508 48
totaltimel = {atoiftempminl]] = 60 + atci{tempascl): return reault:
tempmin: = strickiourrentinfo lastTagTims, ") 1
tempaeci = strick{MULL, ™"
totaltime? = {atoiftempmini]] = 60 + atci{tempasci): slaa I (uaserinfoterminalinfold] != 'a' &2 ussrinfo transportstion
gropylocurrentinfo lastTagTime, temp): == METRQ) //7ot8 o=}y = Ef2
stropy{userinfo. lastTagTima, temp2): {
result = 5720 8= 12509 5¥
i (userinfoin_out == OUT &2 userinfo.iransportsticn == METRO && return result;
15-totaltimaZ-totaltimel) A/ 218 == o2ty v]s L2} }
{ 1
result = 1;//20 83 50048 1¥ alas]
return result; return result:
I 1
}

eles if ({ussrinfo.transportation == BUS &2 userinfo.in_cut == OUT) ||
{ugerinfo fransportaticn == BUS &2 userinfo.terminelinfefd] == 'a')

|| {uesrinfo.in_cut == OUT &2& userinfo fransportaticn == METRO



Code Analysis(H1A Strugtured Chart — PTS (Advenced)

HE HA225

olE 22%2Z Control

o 832 Userdy

£ enable, disable, trigger

PEEE 295 AX Tt vl 2N 23 85% o5 VA 27 EAG WY

Mol
-° CEL ,
int busChargaShortagelontrolfint result) A /42120 235 F FAER
{
shar sterminalCount[4] if {userinfo.balance<1850)
int chargs = 3: {
_ Hd_é_ ochargs = 0
switoh (result) 1
o= f slee// F2E Aol At
zaze 1: {
ol if {userinfo.balance<500) chargs = 1:
= { surrentinfo.balance = 1850;
chargs = O terminalCount++;
"_g'a_i 1 sprintf{oterminalCount, "%d", terminalCount):
slee//E2E AN ALt stropy{ourrentinfe terminalinfe, "a_"):
{ strost{currsntinfo terminslinfo, oterminslCount):
! }.ﬁjtoﬂ zhargs = 1: 1
purrentinfo. balanca = 0; return chargs:
stropy{ourrsntinfo terminslinfo, wssrinfo.terminslinfs): bresk:
1 cazs 4
return chargs: if {userinfo balanoe<17650)
brask: {
HE cass 20 chargs = 0.
| if (userinfo balanoe<1060) 1
| o5 { slas// FRY A0 A
chargs = O: {
OH'IE_ﬂ‘ 1 chargs = 1:
slas//EF2E A9 ALt currentinfo. balance = 1750:
;—5—3_;1‘ { terminalCount++:
chargs = 1: sprintf{oterminslCount, "%d4", terminslCount):
currentinfo.balance = 1050; stropy{ocurrentinfo.terminslinfe, "a_"):
;g:g terminalCount++: stroat{ourrentinfo terminginfe, cterminalCount):
sprintf{cterminslCount, "%4", terminslCount): 1
strepyiourrentinfo. terminalinfe, "a_ ") return chargs:
stroat{ourrentinfe termindlinfe, oterminslCount): brask:
N i 1 oags 5:
KONKUK return chargs: if {userinfo balanoe<l250)



Code Analysis(H1A Stgugured Chart — PTS (Advanced

3 sann
TAG
HE HA 231
ol & &t} Control
9% trigger
4 Trigger, Enable, Dizable
. A} el sl Al B8 e o sletenlsl oigel ot Sl o ey |
& Z2M 20 A4HE
woid busleftControl) S B A sl EE sless if (90xtctalimeZ — totaltimsl)
i i
int result = 10: ourrsntinfo. balance = Z00;
char- tempmminl: 1
char«= temp=ecl:
char- tempminz: alesa if (1Z20>totaltimeZ - totaltimel)
char= tempescZ: I
int check_trans: SO AR IR E 2SS g2 ok currsntinfo. balancea = 300:
it toctaltimsel: 1
int totaltinmsZ:
ohar temp]1a]: A0 AZY =] =Eetr] H{er SExpdugd! alss if (150>totsltimaZ - totabimsl)
char tempzZ[10]: {
currentinfc. balance = 200;
stropyitemp, currsntinfo lastTagTims): }
stropyi{tempZ, userinfo.lastTagTime):
tempminl = strickiuserinfo lastTagTime, " sles
tempeenl = stricle{WULL, ") {
totaltimal = (astciftempminil]) = 60 + atci{tempascl): currsentinfo balance = 500!
tempminZ = strickicurrentinfo.lastTagTims, ") 1
tempses = stricl{WULL, ") I

totalimeZ = {atciftempminI]) = 90 + atci{tempsecI)
stropyicurrentinfe lastTagTims, temp):
stropyluserinfe lastTagTims, tempz):

1
]
B
fir
il

i (Eoxtotalimeaz — totaltimnsel) || (userinfo.in_owut

userinfo. terminalinfe0] == 'a'l)
{
currentinfo. belance = 0;
1
alga if (80>tctaltimeZ - toctaltimel)
1
EONEUK ourreantinfe balancs = 100;




Code Analysis(H1A

if {feeb == 0}

printi(’ 827 2&HHEYD L
I
alaa if (fash == 1}

zaralnfo]

printf"A] 2t - %s “n", currentinfo lastTagTima):

printf{'=9 : %d “n", currentinfo balanoal;
printf{"ZHe - %d ", userinfo balance -
ourrentinfo. balanos):

1
printf{' B2 user incut®dh\n", userinfo.in_out):

veoid savelnfo)

FILE «f:

char cbalancs[10]:

//7E char B{EE TIHT] HE @

f = fopsn{"CN\\user i=t", "a"):

£(f == NULL) { pemor(AERHEE0] §&4T) }
slas]

fputa("ux’,

JrREHD

fputa{purrentinfc lad TagTims, f):
fputs(” ", £);
SERZAT A

if {purrentinfo transportation == Q)
fputs{"BUS", £);

slas if (purrentinfo transportation == 1)
fputa{"METRO", £);

glzs
printf{'transpertation ERROR\R):

fputa(” ", £);

/M 22 AE Teo U

if {ourrentinfoin_out == Q)
fputs"TH", £):

slas if (purrsntinfoin_out == 1)
fputs{"OUT", £:

glzs
printf{in_cut ERROE.R"):

fputa(” ", £);

g e o] g

sprintf{cbalanos, "%d", ussrinfo.belancs - currentinfo.balanos):

/7 REe] B 9F We7 Y HEE g AS
fputa{obalancs, )

fputs(” ", £);

SR o] fF

fputa{ourrentinfe terminalinfe, )
SEEEE Lo g
i

foloss(f):

AEOE TgH A
f = fopsn{'bus.t=", "a+":

fputa{"n”, £);
AERL

fputa{ourrentinfc last TagTims, 1)
fputs” ", 1)
AERZAT EY

i {ourrsntinfo tranaportation == Q)
fputs{"BUS", )

slzs if (currsntinfo freansportstion == 1)
fputs{"METRD, £);

slas
printf(‘transportation ERRCR ")

fputs!” ", £);

AEA &2 FEE Ty o

i (ourrentinfo.in_out == J)
fputs{"IN", £);



Code Analysis(™o !
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Code Analysis( “5i" et =P (Adanced

if (leng >= MAX_SIZE{
void getinfo(struct results rri prnti(’FULL\n").
struct terminfo infos[MAX_SIZE]: }
char termmput[MAX
int j:
char tempchar{MAX
char endFilel4): printf(IN OUT o]ordych\n").
char+ line_p:
int ti:

ot 4 = O: strepy(tempehar. siriok(NULL, " ").//85 —
it 1k: - - : : B
oy infos(leng].balance = atoi(tempchar)

ini secl.

int sec2: ; " - ol
e G strepy(tempehar. striok(NULL, ™ 7)).//El0]'d

if ((line_p = strchritempchar. "\n')).!= NULL)sline p = "\0'
ke ktreoy(infoslieng] terminalinfo. tempehar):
— //RIsPE oA
(82 f = fopen(metro.txt” leng++;
% if (f == NULL) perro }
= J/FBERESEE0H }
£ else { ’
[ while (fgets(terminp) fclose(f):
w7

K KONEKEUK
UNTVERSITY



Code Analysis( “5i" et =P (Adanced

else]
void getinfo(struct results T} strepy(tempehar. strtok(terminput. ™ ").//E13AIZ
struct terminfo infosMAX_SIZE]: strepy(infos(leng] JastTagTime. tempchar):
char terminputMAX_INPUT_SIZE]:
int j: strepy(tempchar. stritok(NULL, ™ 7)://254C
char tempchar[MAX_INPUT_SIZE]. if (stremp(tempchar. "BUST) == O
char endFile[4]: infos(leng] transportation = BUS
char+ line_p: }
int ti.
intifj = 0.
int th: L : ! |
char jopmel20L infos[leng] balance = atoi(tempchar): ]
int secl.
g strepy(tempchar. striok(NULL, ™ )://EjD]g

int size = 0://Z2EUER RIS
if ((line_p = sitrchritempchar. "\n')).!= NULL)sline_ p = "\0'

FILE *f; 5 .
i stropy(infos[leng] terminalinfo. tempchar).

— T = fopen(bus.txt”. T

i (f == NULL) perror("AI}QI0]z] & -

o] J/RISHE A R E2uolt g™ 192'18

or else { }

—‘f while (fgets(terminput. MAX_INPUT_ }

1= 7R

1t (eng >= MAX _SIZE) fclose(f).

2 printiCEIDEBRAGA\n"); }

K KONEKEUK
UNTVERSITY
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Code Analysis( “5i" et =P (Adanced

2

£ strepy(rririeng] JastTagTime. infos(tk] lastTagTime): }

t strepy(rririengl.terminalinfo. infosltk].terminalinfo): size = 0:

s rieng++: }
}

s

t else{ for (j = 0: j<deng: j++¥

t for (ti = 1tk - skze: ti <= {k: ti += 2} printiM\n%dwiAl: It = %s\n", j. rrfil.lastTagTime):

s [/EEEREAIEOAAIEDS printf("%deixi: ir = %d\n". j. rrljltransportation).
if (ti == Jeng - 2} printff%d¥iAl: fee = %d\n". j. rrljl.fee):
rririengl.fee = infosfti] balance: printi(%dyiml: fee = %s\n". j. rrljl.lerminalinio).

it rr(rieng] transportation = infos(ti] transportation: }

s strepy(rririeng].lastTagTime. infos(ti].lastTagTime): }

} strepy(rririeng] terminalinfo. infos(ti].terminalinfo).

} rieng++.

} }
else]

g rririengl fee = infos[ti] balance:

} rrlrieng].transportation = infos(ti].transportation:

} sircoy(rririengl lastTagTime. infos(ti]lastTagTime)

} strepy(rrirleng] terminalinfo. infos(ti].terminalinfo):

(/B =2 B SEC
rrirleng] fee += infos[ti + 1].balance:
rleng++:

KU veversre



void adjustment(struct result* rtj

int size = 0:
int ai:

int aj.

int ri:

intrj = 0.
int total = 0;
int temp = 0;
int fee = 00
int j:

for (ai = 0:; ai<rleng - 1; ai++}
if ((strempl(rt[ai].terminalinfo, rt[;
/B BETIZELF S olsize ET
size++:

printf("SAME\n")

if (al == rleng - 2}
printf("SIZE:%d ai:%d\n". size. ¢
for (ri = ai - size + 1. ri <= ai
for (rj = ai + 1; 1} >= ri rj--}
fotal += ri[rj].fee:

Code Analysis( “5i" et =P (Adanced

for(j=da + 1. rj > . rji——}

}

printf(total:9%d\n", total):

for (ri = al - size! ri <= al ri++)}
for (rj = ri: rj <= ai: rj++}

temp += rt[rj].fee:

}

rt[ri] fee = round(((doublejtemp / (double)total)+(doublejfee):

}
}
temp = 0O:
total = O:

fee = O:

for (j = 0. j<rieng: j++{

printf(M\nS%dHA]: 1t = %s\n". j. rtlillatTagTime):
printf("%d¥imy: tr = %d\n". j. rifj].transportation).
printf(9%dHAy: fee = %d\n". j. rt[j]fee):

}

fee += rifri].fes: printf(ed¥sf: fee = %s\n". j. rt[j].terminalinfo);
} }

printf(total %d\n", total): 1

for (ri = ai - size + 1. ri <= ai + L ri++}{ fee += ri[ri] fee.

| =Hunm -

—

p / (double)total)*(double)fee):

7P B3
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OFF BEE MA0) 27|V ZSUH)

R|OIEtestZ 12 ¥ X EI5)

nnon 10000 n

L&) #=HEE M40 22|V) =ES2(H)

METRO IN 33950 b_1
METRO OUT 8750 b_1|

C-Wi dmﬂ'a#ﬁ ystern32¥cmd.exe

transport
inout n
hﬁlaqpe- 1EEEB

lasttagtime =
tranzport : METRO
inout:IM

halance: 8958



1
P>

R|OtZtest(H1A E1T O1Rt ¥ KoL

g E =
""" e . w -

OFF BEE MA0) 27|V ZSUH)
nnon 10000 n

lasttagtime =
TUF BEE M40 27V =2 transport :

nn
0:2 METRD |W 8950 b_1
0:4 METRO OUT 8750 b_1|

mEF BEEE MM 2INV) =E2ZH)
nnon 10000 n

[DLE'HEﬂEa BOS OUT &750 a1 |

mafF) BHEE MN0) 2NV E=Z(H

non 10000 n

2 METRO I 83950 b_1
4 BUS OUT 87580 a_1
? M

ETRO IN 8750 a_1 e Moo
S METRO oUT 8180 a1

trans po rt = METRO




..... ~=— -
usertxt - M 2%

mafF BHEE M40 2INV) ESEH

nnn 10000 n

0:2 METRD IW 8980 b_1
0:-4 BUS OUT 750 a_l
2

ETRO 1M 8750 a_l
3 METRO OUT 3180 a_1

lasttagtime :
‘T--T’U;E_ txt - {2 B lt ransport @ METRO
inout = 0UT
maF #HEE M0 ESAN EFEH halance: 815%@

Fonon 10000 n termlnal-a 1
0:2 METRO IN 8950 b_1 aha
0:=4 BUS oUT 8750 a_1

03 METRD IN 8750 a_l
013 METRO OUT 8150 a1
0:17 METRO [N 7100 d_1
020 METRO OUT 7100 d_-1

lasttagtime = B@:17

transport = METRO
inout:IN
halance: 7186



M

METRD |H 8350 b_1
BUS OUT 8750 a_l
METRO [N 8750 a1
3 METRO OUT 5150 a_1 ==================
7 METRO 1M "T100 d_1
D METRO QUT 100 d_1

lasttagtime =
transport = METRO
EE22H inout:IN

oEdE BHEE MANDO BN

M

BUS OUT 8750 a_1
METRO I 5750 a_1
METRD OUT 8150 a_1

mrz(F) EEE)  MAO) E=2(H)

2200

ETRD IN 8350 b_1
Uz OUT 8750 a1
ETRD I 8750 a_1
3 METRO OUT 85150 a_1
T METRO IN 7100 d_
0 METRO 1IN 7100 c_
g d-

=M=

1

1
HETEO |H S350 2 ———m—————m——m——=—=—==
METRO OUT GE50 4_2

lasttagtime =
transport = METRO
inout:IMN

balance:- 5858

Egrminalid 2



KITIE 2Testeia-mem 2 ¥ sox omt ¥ nion 24

user.tut - H2E

_'?_

OaF) #=HEE M40 22|V) =ES2H

n 10000 n

METRD W 8950 b_1
BUS QUT 8750 a1
METRD W 8750 a_1

l:ll:ll:ll:ll:ll:ll:ll:I:'
I'\JI'\JI'\J—‘—‘D:IL-I'\J:'

3 METRO OUT 3150 a_1

0 WETRO [N 7100 c_1
LT 4 METRO IN 585042
#%% 8 METRO OUT 550 d_Z T
EEE lasttagtime = B:

L - transport = METRO
J inout:IH

BEEME MA0Q 270 E2%H) bhalance: 5658

termlnal'a 2

m DII:B

ETRD IH 5350 b_1
LS OUT 8750 a1
ETRD IH 5750 a_1
METRO OUT 5150 a_l
METRD [N 7100 d_1
METRD [N 7100 c_1

METRO [N 5650 a_d

=mMm=3

HEE MH(0)
10000 n

US OUT 8750 a_1

ETRD I 8750 a_1

27V) E==H)

=M=

METRO oUT 815021
METRO M 100 lasttagtime = B:31

AL
3 WETRS 1N 100 o

oo i pansport : METRO
4 METRO IN 5850 d_2 Sransper

. inout:IHN
c_1

g METRO IH 5BRO
1 METRO W 3300 balance: 3788

:33 METRO OUT 3900 1| terminal:c_1




N9 =testron

_>I:I1A

mEF) BEE MN0) 2NV E=Z(H)

10000 n

ETRD |H 8350 b_1
LS OUT 8750 a1
ETRD I 8750 a_1
METRO OUT 5150 a_l
METRD N 7100 d-1
METRD N 7100 c_1
METRO IN 5850 d_2
: B METRO W BEE0 a_2
231 METRO IM 3300 c_1
:33 METRO OUT 3900 e

lasttagtime =
transport :
inout:IN

A40Q) 27 ESEH)

|| OHUE EHEE
;] nn 10000 n
2 METRO IW 8350 b_1
$d BUS OUT 8780 a_1

8 METRO IW 8750 a_l
213 METRO aUdT 8150 a1
17 METRO IW 7100 d_
(20 METRO IW 7100 c_
:2d4 METRO W BBE0 d_

1
1
2
228 METRO [N 5BE0 a_Z

METDo M Sooo =L
233 BUS W 3300 b1

= :Il:ll:ll:ll:ll:ll:ll:ll:I:'

AMHC) 22|(V) ESZ(H)

ETRD IH 3350 b_1
LS OUT 58750 a_l
ETRD W @750 a_1
METRO OUT 3150 a_1
METRD [N 7100 d_-1
METRD [N 7100 c_1
METRO IN 5850 d_Z
METRD [N BEEO0 a_2
METRD N 3300 c_1
BUS 1M 3900 b_1
METRD N 2250 e_1
METRO OUT 2050 e_1|

lasttagtime =

METRO

transport :




nonn 1000

transport = n
inout:n

MAD 270

0:18 METAO oUT 0 b3

lasttagtime = @:2
ltransport = METRO
inout:IN

balance: 8958

=t=c@y oAbl 1

2=feed.

=
Al ZI1ES : 6
J% A2 Y

M edy,

o

= ey,

. =49

S AteErn

a2:32
B2:33

A2:52
A2:53
A2 :54

a3 :008

Z=| S}
AA: A1
Af : A2
AA: A3
@A : A4
@A : A5




v
T

_%_ t =

10000
ETRO IN 8350 b1
ETRD OUT 8950 b_1 em—m———————oe
ETRD I 7300 c_1

0 WETRD IW BES0 b_Z
5 METRO OUT BEEOD b_2 SEEEEEEEEEEEEEEEES

===

metrofxt - H2E

It

2iF BHEE MAD 27ME

ETRD I 1080 b_1
ETRO OUT O b_1

ETRD I 1080 c_1
METRD N 1250 b_2
METRO OUT 0 b_g

M
M
M

metrotet - M 2%

L&iF) #=HE(E)

HH(0)

2210

c22H)
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| H{Atest(ZmT2UXE NEID)

o) HEE MO B2V
nnon 10000 n

user.txt - M 2%

o2 (F)

| = | O |-

HEE) M40 27NV

E=2(H)

aooa- n
M 3950 a_1
OUT 8950 a1

TAG TIME @AG@:-8A3
inowt = n
t:t-anslz_m-:t:l:

3

TAG TIME B8H@:-AG
transport = BUS
inouwut = IH
bhalance: 8954
terminalz-a_1
=F=«a> Sltx=fc1L>




i '='1/\’res’r(7‘l°r**°r_Lﬁ_ﬁ7‘M:°"H A Z5)
----- e - — PR

maF H=HEE MAO EFN EE2TH)
nnon 10000 n
user.tit - O TAG TIME @@:11
TF HEE AU =271V SST(H) ey o
inout = QUT
nnon 10000 n halance: 8958
0:3 BUS W 83950 a_1 termlnal b_1
0:6 BUS OUT 8350 a_1 = =1

P EEE M40 22|V) E22H)
nnn 10000 0

0:5 WETAO OUT 8950 b1 ]

TAG TIME B8@:-43
Ntransport : BUS
inout:IN

halance:- 8958



. B1Atest(™|OTE "I_L:-——'I—u ¥ HAZS)

N C¥Window sﬁ*s_, stern32%comd.exe

----- e - [F

meF EHEE MMO) 22NV E22H)

nnon 10000 n
user.tit - O TAG TIME @@:11
o HEE) MAQ) 2|V E2U(H) transport : METRO

. - - 2 inout = QUT

nnon 10000 n halance: 8958

0:3 BUS IW 8950 a_1

0:6 BUS oUT 8350 a_i

oHaiF HEE M0 27V T
nnn 10000 n

0:5 WETAO OUT 8950 b1 ]

ma
e
:i

user.txt - M 2E

DHFE EEBE MAO 271V E2ZH)

10000 n
Us |W 5950 a_l
ETRO OUT 8950 b_1
BUS IN 8950 b_1
BUZ OUT gabl b




H-l A'I'es'l'(um—wwrg s ¥ EiTx O F A BE)

DUF HBEE MAQ) 27|V) ESUH)
0:3 guénﬁuagan 1
- a_ .
0:F HETRO OUT 8950 b_1 TAG TIME B@:47
0:11 BUS IN 8950 b_] transport : METRO
0:43 BUS OUT 8350 b_1 inout:zIN
hbalance: B8850H

""" userfxt - M 2=k |:: =] -i@prpinal:

mMUF) BEE) MAO) 27|V) ESUH)

n 10000 n

BUS M 8950 a_1
METRO OUT 83950 b_1

1 BUS IH 8950 b_1

o METHO TH 88b0 a_T[ |

nn
0:3
0:G
01

s

maF) #HEE M40 22|V ESE(H)

non 10000 n

:3 BUS M 8950 a_1

6 METRO QUT 8980 b_1
11 BUS IM B350 b_1
243 METRO W 8850 a_1
A7 BUS IM T200 a2
1 BUS QUT 7200 a_2

coooooodo3

ThAG TIME @A:-51
transport = BUS
inout:IH
bhalance: Y280




H1 A'I'es'l'(ﬂlvrg—wm S5 ¥ EiOx SNt ¥ BA Eig)

= | B |-

mafF BHEE M40 2INV) ESEH

nnn 10000 n

0:3 BUS IW 8950 a_1
0:6 METRO OUT 8950 b_1
O:11 BUS IN 33950 b_1
0:-43 BUS OUT 8850 b_1

mMUF) BEE) MAO) 27|V) ESUH)

nonon 10000 n

0:-3 BUS IW 8950 a_1
0:6 METRO OUT 8950 b_1
0:11 BUS M 8950 b_1
0:43 METRO IN 8350 a_i|

lm|E]—

maF) #HEE M40 22|V ESE(H)

nnon 10000 n

0:3 BUS IW 8950 a1
0:5 METRO OUT 83950 b_1
0:11 BUS IW 8950 b_1
0:43 METRO IH 8850 a_1
0:47 BUS IW 7200 a_2
0:51 BUS oUT 7200 a_2

h: =] |-

oaE HEE MH40Q 2E/M £

oo
e
e

non 10000 n

3 BUS IM B350 a_1

6 METRO OUT 3950 b_1
11 BUS IN 33950 b_1
43 METRO IN 3850 a_1

[D-E] BUS 1N 7200 c_ 2
- a_
0:B9 BUS OUT 5450 a_3

N
o:
a:
o:
a:

L —————

EE CorWindowsWsystem32Womd.exe

TAG TIME A8 :-56
transport = BUE
inout=IM

halance =
terminal:c_2
=r=wa> SltxElca> -

TAG TIME O@8:=-5%
transport = BUS
inouwut:=IHN
bhbalance:= 5458




E CosWWindowsWsystern 3 2Wemd exe

el HEE MHN0 27N =SEH

nonn 10000 n

0:3 BUS IN B350 a1

0:6 METRO QUT 8350 b_1 TAG TIME 81:-83
0:11 BUS IN B350 b_1 transport = BUS
0:43 METRD IN 8850 a-i inout =0OUT

0:47 BUS IN 7200 a_2 balance: 5458
0:51 BUS IN 7200 c_2 terminalza_3
0:56 BUS IN 5450 a_3 AL & )
0:59 BUS OUT 5450 a_3

e #HEE MN0O) 2NV ESE(H)

10000 n
Us 1M 83950 a_l
ETRO CQUT 8950 b_1
1 BUS IM 8350 b_1
243 METROD IN 8850 a_l
247 BUS IN 7200 a_?

1 BUS [N 7200 c_2
BB BUS IN 5450 a_3
BBUSDUTEdH]a a TAG TIME A1 :@7
U5 [N 4400 a_4 ty»ansport - BUS

US ouT 4400 a_4 inout:-IHN
hbalance = <4@A@A

'l:_er_minal:_a__q
Er=c@> SI=fc1> = 1
OuT

l:l'.ll'_CI:'
=m3

mm

EONEUEK
UKIVERSITY
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""" user.txt - O
maF HEE MHAMO) 2N ES2(H)
non 10000 n
3 BUS IM 8950 a_l
& METRDO QUT 8950 b_1

N
0

0:

0:11 BUS |W 5550 b_1
0:43 METRD |W G550 a_1
0:47 BUS | 7200 a_2
0:51 BUsS I 7200 c_2
0:56 BUS M 5450 a_3
0:53 BUs oUT 5450 a_3
123 BUS W 4400 a_4
1:7 BUS OUT 4400 a_d)|

Tz TIME @1 :=-41%
transpoxrt = BUS
dnowut = IM
bhbalance = =<2-1EA0EA

oEf) BEE M40 27N ES2(H)

nn 10000 n

:3 BUS N 8950 a_l
B METRO QUT 8950
11 BUS IN 8950 b
:43 METRO IN B350

b1
1
a
-4 BUs W 7200 a_g
3

_1

51 BUS W 200 c_
BB BUS W BABO a_

53 BUS OUT 5480 a_3
G =1 I 1 =

I?qBUS N 4400 a_4
Bl ==l —a—h—

— o ooooooo>

:2] BUS OUT 3350 a_ H

Thiz: TIME @i =21
transpoxrt = RBUS
dnowt - IM
hbalance = ZF35@A
terminal-a_5
=r=<a> SlI=l<ai>




BN C¥Windows¥systemn32iemd.exe B CWWindowsWsystem32Womd exe

HiAtest 1= = 3= =9

s > T il ———
Y UEEF-L-::t - D-l

LA A
— i

— —_ _ TAG TIME B@:-@A2
DYUF EHEE MAO) EI|V) SSUH) e
t_ranspurt = on

Innon 10000 n SETRIE ] To: 1

2 BUs IN 83950 a_1

4 BUS OUT 85950 a_1
'1'." BU= [N 7300 a_2
1
1

0 BUS OUT 300 a_2
El B> W BB50 a_3

-
50
|0:
|0
[:
O:16 BUS OUT B250 a_3

bus.txt - 2 &

oEF #HEE MA0O) =270V E=EH)

%
i
L3 TAG TIME B8:83
| |0:2 BUS 1N 1050 a_f tranoport = BUS
EE e
] : a_ ggina :;aE— )
’f:? 0:10 BUS QUT 0 5.7 if‘:'(m Shxbel» = 1
o:14 BUS IN 1050 a_3
O:16 BUS OUT O a_3

S

bus.tet - O D& —5—

s
g

maF) HEE M40 22|(V) E=2(H)




Unit Test(RIAR) o oa .

oE E=HEE M0 270V EESZH)
0:6 BUS IH 1050 a_1 -
0:-10 BUS QUT O a2l
0:31 BUS W BOO c_1
0-41 BUS W 1250 a_2
a_3
a_d

0:89 BUS W 1250
1210 BUS | 10850

oaF) HEE MAOC) 2NV =E=EH)
| 0:24 METRO IN 1050 c_1 -
026 WETRD QUT O c_1

0-35 METRO IN 1650 c_1
0:50 METRO N 1050 b_1

_
——

KU veversre
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() buscompanytot -y I

mpaF) EHEE AMA4(0) !F-'?Ili"-a E=ZH)

0:&, BUS, 1080

0-41,BUs, 1250
0:58,BUS, 1250
1210, BUS, 1050
0:31,BUS, 1338

| metroCompany.txt - M2 Ak -Lglﬂu

oEF BEE MNO) 27V ESEH)

0:-50, HETRO, 1050

| 0224, METRO, 1962
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4 =H TH
4= TH

SEHH
5 HIH
5 HTH
I 1 T

1t =
tr

fee =
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tr

6 ' Il
6 Il
e Tl = fee = 1338
Eﬂﬂzﬂ fee = c_1
H=siedd OfF ZILE =EHA 2 . ..
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